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SCHOOL BASED  EXAMINATION - FORM FOUR 2019



	INSTRUCTIONS TO CANDIDATES.
	- This paper consists of two section: A and B.
	- Answer all the questions in section A.
	- Answer question 6 in section B and any other two..
	- All answers must be written in the answer booklet provided.
	- This paper consists of 4 printed pages.
	- Candidates should check the question paper to ascertain that all pages are printed as 	     	   I	  ndicated and that no questions are missing.
	- Candidates must answer all the questions in English.


















SECTION A.
Answer all the questions from this section.
1.(a)		Name two inner planets of the solar system.								(2 marks)
   (b)		Give two proofs of the spherical shape of the earth.					(2 marks)
   (c)		Given the local time of station A 630 East is 1.10 am.  What is the longitude of station B whose 
		local time is 11.50 p.m.															(2 marks)
2.(a)		What is folding?																	(2 marks)
   (b)	State three characteristics of a composite volcano.						(3 marks)
3.(a)		List two types of intrusive igneous rocks.									(2 marks)
   (b)	State three characteristics of sedimentary rocks.						(3 marks)
4.		The diagram below shows types of local winds.  Use them to answer questions (a) and (b).
					At night											Day – time


  (a)		Identify the two types of winds marked P and Q.						(2 marks)
   (b)		Give reasons why the wind marked P flows from the hill top to the valley bottom at night.		(2 marks)
5. (a)	Name the grasslands found in the following regions of the world.				(3 marks)
		(i)	 Russia
		(ii)	 Australia
		(iii) Canada
   (b)		State two ways desert vegetation adapts to drought conditions of the desert.		(2 marks)

SECTION B.
Answer question 6 and any other 2  from this section.
6.		Study the map of Taita hills and answer the questions that follow.
 (a)(i)	Name two natural vegetation in the area covered by the map.					(2 marks)
     (ii)	Mention two methods of representing relief used in the map.				(2 marks)
 (b)(i)	Calculate the area covered by Rongo forest.								(2 marks)
     (ii)	What is the longitudinal and latitudinal location of the Youth Polytechnic in Msau.			(2 marks)
  (c)	Describe the relief of the area covered by the map extract.					(5 marks)
  (d)(i) Draw a rectangle measuring 10 cm by 8 cm enclosed by: 210160 to 260160 and  210200 to 
	    260200 and on it mark and label:-											(4 marks)
				- Mragua hills.
				- All weather road:  Loose surface.
				- Mission Girls High School
     (ii)	What is the scale of drawn rectangle in a (i)?						(2 marks)
   (e)	Citing evidence from the map, identify three functions of Kidaya.				(6 marks)
7. (a)	(i) Differentiate between weather and climate.							(2 marks)
	  (ii)	Describe how the following conditions influence the climate of a place.
			Altitude.																			(1 mark)
			Ocean currents.																(1 mark)
  (b)	The table below represents rainfall and temperature of station Y. Use it to answer questions (i) and (ii)	
														Station Y
	Months					  J		 F		    M		 A		M        J	J        A        S	    O	   N	  D
	Temperature (0C)  		30	      31		31		31		30      29        28     29      29	    29	  29	  30
	Rainfall (mm)		 	250	 250	   325	    300	213	25       25     25      100    275	  380	 200
    (i)	Calculate the annual range of temperature of station Y.					(2 marks)
   (ii)	Compute the total annual rainfall for station Y.									(2 marks)
  (iii)	Calculate the mean rainfall for station Y.									(2 marks)
 (c)	Describe the climate characteristics of  station Y.								(6 marks)
 (d)(i)	Using a well labelled diagram, describe how relief rainfall is formed.				(6 marks)
     (ii)	State three significance of weather forecasting to the human activities.			(3 marks)
8. (a)(i)	Differentiate between Orogenic and Epeirogenic forces.					(2 marks)
	 (ii)	Describe how isostatic adjustment causes earth movements.				(4 marks)









   (b)	The world map below shows major volcanoes.  Use it to answer question (i)
	[image: ]
    (i)		Name the volcanoes marked U, V and W.							(3 marks)
    (ii)	Give an example of a lava plateau in Kenya.									(1 mark)
  (c)		Using a well labelled diagram, describe how a batholith is formed.				(7 marks)
  (d)		Explain four significance of volcanicity to human activities.					(8 marks)
9.(a)(i) State two causes of submergence of coasts.							(2 marks)
      (ii)	Name two features that form as a result of submergence of coasts.				(2 marks)
  (b)(i)	What are tides?																(2 marks)
     (ii)		Name two ocean currents along the Western coast of Africa.				(2 marks)
  (c)	With the aid of well labelled diagram, describe how a stack is formed.				(8 marks)
  (d)(i)	State three conditions that favour the growth of corals.					(3 marks)
     (ii)	Explain three ways in which corals contribute the economy of Kenya.			(6 marks)
10.(a)(i)	Name three types of desert surfaces.									(3 marks)
        (ii)	Explain two ways through which wind transports its load.					(4 marks)
  (b)  (i)	Apart from Zeugen, list three other features that result from wind erosion.		(3 marks)
	(ii)	The diagram below represent a desert feature.  Use it to answer questions c(i) and c(ii)
                   Gentle windward slope							   K
		          [image: ]


			1. Identify the feature above.												(1 mark)
			2.	Name the part marked K.												(1 mark)
			3.	Name the air current marked L.										(1 mark)
  (c)		Describe the formation of Zeugens.										(5 marks)
  (d)		Your Geography class intents to carry out a field study in an arid area.
	(i)	Identify two equipments you would prepare for the study.					(2 marks)
	(ii)	Apart from administering a questionnaire name three other methods of data collection you would
			use.																				(3 marks)
	(iii)	State two qualities of a good questionnaire.							(2 marks)
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	INSTRUCTIONS TO CANDIDATES.
	(a) This paper consists of two section: A and B.
	(b) Answer all the questions in section A.
	(c) Answer question 6 in section B and any other two..
	(d) All answers must be written in the answer booklet provided.
	(e) This paper consists of 4 printed pages.
	(f) Candidates should check the question paper to ascertain that all pages are printed as indicated 		     and that no questions are missing.
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SECTION A.
Answer all the questions in this section.
1. 	(a)		Differentiate between domestic and international tourism.				(2 marks)
   	(b)		State four tourist attractions in the coastal region of Kenya.				(4 marks)
2.	(a)		Name the method of irrigation used in the Mwea Irrigation Scheme.			(1 mark)
	(b)		State three factors that influenced the location of Mwea Irrigation Scheme.		(3 marks)
3.	(a)		Explain the meaning of the following terms.
		  (i)	Dry port.																	(2 marks)
	   (ii)	Hinterland																	(2 marks)
	(b)	List any three advantages of using containers of the port of Mombasa.			(3 marks)
4.	(a)		Identify three types of trade.											(3 marks)
	(b)		List two invisible exports in Kenya.								(2 marks)
5.	(a)		Define the term pollution.												(1 mark)
	(b)		Give two causes of water pollution.								(2 marks)

SECTION B.
Answer question 6 (compulsory) and any other 2 questions  from this section.
6.	(a)		Give two reasons why wind energy is undeveloped in Kenya.				(2 marks)
	(b)	(i)	Other than the generations of HEP state three other functions of Masinga Dam.	(3 marks)
		     (ii)	State three problems that affect HEP production downstream River Tana.		(3 marks)
  	(c)	Explain the measures the government of Kenya has taken to manage and conserve ther energy
			resources.																		(6 marks)
	(d)	Use the photograph below to answer questions that follow:-







			[image: ]
	 (i)		Identify the type shown on the photograph above.					(1 mark)
	(ii)	Name two areas in Kenya where such energy is harnessed.				(2 marks)
	(iii)	Suggest two other areas with potential for the type of energy mentioned in above.	(2 marks)
	(iv)	Explain three ways in which production of such energy has interfered with the environment.
																								(6 marks)
7.	(a)	(i)	What is forestry.															(2 marks)
			(ii)	State three characteristics of planted forests.						(3 marks)
	(b)	(i)	Name two softwood trees which grow in Canada.					(2 marks)
		   (ii)	Explain three ways in which coniferous forests are adapted to the cold climate.	(6 marks)
	  	  (iii) 	Give four problems facing forestry in Kenya.					(4 marks)
	(c)	State three measures taken by the Kenyan government to conserve forests.		(3 marks)
	(d)	Compare forestry in Kenya and Canada under the following sub-headings:-
		(i)	Transportation																	(2 marks)
	  (ii)	Harvesting																	(2 marks)
	 (iii)	Tree species																(1 mark)
8.	(a)	(i)	Define the term wildlife.												(2 marks)
			(ii)	Differentiate between a game reserve and a National Park.				(2 marks)
		   (iii)	Name three game parks in Uganda.								(3 marks)
	(b) 	(i)	What is wildlife management.										(2 marks)
		    (ii)	Explain four measures taken to manage wildlife in East Africa.			(8 marks)
	(c)	Explain four physical factors that influence the distribution of wildlife in East Africa.	(8 marks)
9.	(a)	(i)	Define the term industry.												(1 mark)
		   (ii)	Name three agricultural non-food manufacturing industries in Kenya.			(3 marks)
	    (iii)	Outline three benefits derived from Jua Kali sector in Kenya.				(3 marks)
	(b)	The diagram below shows the iron and steel industries in Ruhr region of Germany.  Study it
			and answer the questions that follow.














	(i)	Identify the towns marked A, B, C, D, E								(5 marks)
	(ii)	Identify the rivers marked F, G and H.								(3 marks)
  	(c)	(i)	State four factors that led to the growth of the iron and steel industries in the Ruhr region of
				Germany.																	(4 marks)
		   (ii)	Explain three factors that have led to the rapid development of the car manufacturing 
				industries in Japan.														(6 marks)
10.		(a)		Use the map given below to answer the questions that follow.






	
	



 	(i)		Name the ocean current marked X and Y.						(2 marks)
	(ii)	Name the country marked P, which is considered as one of the leading fishing nations of
			of the world.																	(1 mark)
	(iii)	Explain three factors that make country P the leading fishing nation.			(6 marks)
	(b)	State four reasons why Africa is not a major producer and exporter of fish and fish products.
																								(4 marks)
	(c)	Explain four significance of fishing industry to the Kenyan economy.			(8 marks)
	(d)	Form four students from a school in Turkana county undertook fieldwork on fishing within lake
			Turkana.			
	  (i)	Give two methods of fishing they are likely to have come across.				(2 marks)
	  (ii)	 If one of their objectives was to establish the problems facing the fishing industry, state two
			of these problems they are likely to have found out.					(2 marks) 





SCHOOL BASED  EXAMINATION - FORM 4 2019
	GEOGRAPHY 312/1 MARKING SCHEME PAPER 1
	SECTION A
1.(a)		Inner planets  of the solar system.
		Mercury, Venus, Earth, Mars  (any first 2 x 1 = 2 mks)
   (b)		Proofs of the spherical shape of the earth.
	- Circumnavigation - one moving round the world in a straight path comes back to the same point.
	- Satellite photographs show spherical shape of the earth.
	- Gradual appearance of a ship approaching a port smoke seen first, then mast and a whole ship.
	- Eclipse of the moon - shadow cast by the earth on moon appears spherical.
	- Viewed through telescope all planets appear spherical.
	- Due to earth’s rotation sun rises in the East and sets in the West if the earth was flat all areas would 	  receive   sunlight at once.
	- Due to revolution sun rises and sets at different parts of the world but if it were flat the sun would rise 	and set   at the same point.
	- Earth’s horizon appears curved observed from a high point.		 (any first 2 x 1 = 2 mks)
  (c)	Calculation of longitude at station B.
		Station A = 630			East   1.10 am
		Station B = ?					11.50 am
		Difference in time 11.50 am to 1.10 am = 1 hr 20 min = 80 min
			80 mins = 80  4 = 200
 		Since 10 = 4 mins
		Longitude for station   B = 600 - 200 = 430 East.
						(2 mks)
2.(a)	What’s folding?
	Folding is the bending of the rocks of the earth’s crust due to earth movement.  Folding may also lead to the crumbling of crustal rocks.
					(1 x 2 = 2 mks)
  (b) Characteristics of a composite volcano. (3 mks)
	(i)	Has a vertical vent or pipe.	
	(ii)	Has side vents / secondary or parasitic vent.
	(iii)	Has alternating layers of pyroclasts and lava.
	(iv)	Has conical shape and steep sided.
	(v)	Has a major vent blocked by solid lava / plug.
	(vi)	Has a crater or caldera at the top.
					(3 x 1 = 3 mks)
3.(a)	Types of intrusive igneous rocks.
	Hypabyssal rocks
	Plutonic rocks
				(2 x 1 = 2 mks)
 (c)	Characteristics of sedimentary rocks.
	(i) 	Formed from sediments of pre-existing rocks.
	(ii)	Rocks from horizontal stratified layers / stratas.
	(iii) Some have plant and animal fossils / remains.
	(iv)	Rocks have bedding planes / foliated / have a cleavage.
	(v)	Some have joints formed during consolidation.
	(iv)	The rocks are non-crystalline.
				(3 x 1 = 3 mks)
4.	Winds marked P and Q.
	P - Katabatic / Mountain wind.
	Q - Anabatic / Valley winds
  (b)	Reasons why the wind marked P flows from the hill top to the valley bottom at night.
	(i) At night air on the hill top  is cooled faster than valley bottom.
	(ii) Cold dense air on the hill top creates a high pressure zone.
   	(iii) Air in the valley bottom is warmer and rises up to create a low pressure zone.
	(iv) Cold dense air from the hill top flows down the slope to replace the warm rising air in the valley.
							(2 x 1 = 2 mks)
5. (a)	Grasslands found in the following regions of the world.
	(i)	Russia 		- 	Steppe
	(ii)	Australia	-	Downs
	(iii)	Canada		- 	Prairies
						(3 x 1 = 3 mks)
   (b)		Ways desert vegetation adapts to drought conditions.
	(i) Some plants have thick / fleshy leaves and barks to store water.
	(ii) Some have long tap roots to search for underground water.
	(iii) Some have no leaves / thin leaves / spiky / waxy / needle - like leaves to reduce transpiration.
	(iv) Some plants have seed that remain dormant and germinate quickly / drought evading / have short 		growing     cycle.
	(v) Some have thick hard barks to reduce  transpiration.
	(vi)	Some plants wilt in absence of moisture but recover very quickly.
	(vii) Some have thorns to protect themselves from browsing animals.
	(viii) Most plants are stunted / Dwarflike due to harsh condition.
	(ix) Some sprout quickly to take advantage of the short-lived desert rains / have short growing cycle.
	(x)	Some plants shed leaves / deciduous to reduce water loss in the dry season.
	(xi) Some are umbrella - shaped to shade the root system / stem and reduce evaporation.
	(xii)Some plants are halophytic / salt - tolerant to survive in the areas with poor drainage and saline 	  	  soils.
				(2 x 1 = 2 mks)
6.(a)(i)	Natural vegetation. (2 mks)
			- Natural forests
			- Thickets
			- Scrub
	(ii)	Methods of representing relief. (2 mks)
			- Spot heights
			- Contours
			- Rock drawing
  (b)(i)	Area of Rongo forest. (2 mks)
			Complete sqs 	- 0
			Incomplete sqs	9 2 = 45 km2
    (ii)		Longitudinal and latitudinal location of Youth Polythenic in Msau.(2 mks)
			Latitude - 3025’S
			Longitude - 38025’E
  (c)		Relief of the map extract.(5 mks)
	- The Western part is a highland while Eastern is a lowland.
	- The area slopes from West to East.
	- There are many hills in the area covered by the map e.g Mganga hills.
	- The area has several rivers valleys / dissected by several rives valleys.
	- Highest point is 2208 m and lowest point is 620 m.
	- The area to the West has rugged landscape / has many ridges.
	- The area has several rock outcrops.
  (d)(i)	A rectangle measuring 10 cm by 8 cm enclosing the area bound by 210160 and 210122 to 260200.






















			Rectangle - 	1 mk
			Labelling  - 	3 mks 
	 			     	4 mks
     (ii)	Scale of the area drawn. (2 mks)
			1 : 50000
  (e)		Functions of Kadaya town. (6 mks)
	- Transport centre 		- Presence of roads.
	- Trading centre		- Presence of shops
	- Education centre 	- Presence of Technical School
7. (a)	Weather is the daily atmospheric conditions of a place while climate is the average weather conditions of a place over a long period of time usually 35 years. (2 mks)
	Altitude - Higher places have lower temperatures compared to lower places example top of mountain have lower temperature compared to lower places which have high temperatures.
				(1 x 1 = 1 mk)
	Ocean currents - Warm ocean currents bring warm conditions to the adjacent whereas cold ocean currents don’t have moisture therefore bring dry cool conditions on the adjacent land.(1 x 1 = 1 mk)
  (b)(i)	Annual range of temperature.
			310 - 280 = 30C
					(1 x 2 = 2 mks)
     (ii)	Annual rainfall for station Y.
			Sub total 250 + 250 + 325 + 300 + 213 + 25 + 25 + 100 + 275 + 380 + 200 = 2368 mm(2 mks)
					Average rainfall of station Y = 2368 = 197.33 mm (2 mks)
														    12
  (c)  (i)	Experiences high temperatures throughout the year.
	(ii)	High temperature are experienced in the months of February, March and April.
	(iii)	Low temperatures in the months of July.
	(iv)	The station receives high rainfall in the month of November.
	(v)	The station has two rainy seasons between months of January and May and September to 	   		December.
	(vi)	Low rainfall is received in the months of June, July and August.		(6 mks)
 (d)(i)	When on-shore winds rise over a hilly or mountain barrier it expands and cools.
		As it rises to higher levels it condenses to form clouds.  If the clouds become heavy they fall as rain.
	 This type of rainfall is also called orographic rainfall.











			Diagram 		- 3 mks
			Explanation 	- 3 mks
								  6 mks
  (ii) 	Enables farmers to plan their calendar for farming activities.
	Guides landing and taking off of aircraft.	
	Helps to prepare and avert disaster related to weather.
	Determines suitable clothing to be worn a given time.
					(3 x 1 = 3 mks)
8.(a)(i)	Differentiate between orogenic and Epeirogenic forces. (2 mks)
		Orogenic forces are horizontal earth movements while epierogenic forces are the vertical earth movements.
    (ii)	Describe how isostatic adjustment causes earth movements. (4 mks)
	- The weight of the sial layer is in a state of balance (isostaly) with the sima.
	- When erosion takes place on the sial (continental mass) the continents become thinner and lighter or 	 large   amounts of ice melt from continental ice sheets.
	- Two reduced weight causes continental mass to rise.
	- The eroded materials are then deposited on the sea bed or delta regions.
	- This causes the sima layers to be depressed (sink) into the mantle it is heavy.
	- The sinking disrupts the balance causing the continental masses to rise since they are lighter.
	- These adjustments are meant to maintain a state of balance within the earth’s crust hence isostatic 	    	  adjustments.
					(4 x 1 = 4 mks)
  (b)(i)	Name the volcanoes marked U, V and W.
			U - Ethiopian highland
			V - Columbia snake valley plateau	
			W - Siberia plateau					(3 x 1 = 3 mks)
  (ii)	Name an example of a lava plateau in Kenya.(1 mk)
	(i)	Yatta
	(ii) 	Uasin Gishu
	(iii)	North West plateau
	(iv)	Maralal Stony Athi
  (c)	Using a well labelled diagram describe how a batholith is formed.
	(i)	Earth movements affect the layers of rock leading to formation of a vent.
	(ii)	Viscous magma is so hot that it metamorphoses the country rock on its path.
	(iii) As it flows it replaces the country rocks since some rock may melt while others may sink into hot 	  magma.
	(iv)	Melting of the rocks may make small mineral crystals to combine forming large crystals as they   q      	   cool and 	solidify.
	(v)	Cooling and solidification leads to formation of a large bottomless igneous instruction into the 		    country rock called Batholiths, formed from slow cooling of large amounts of acidic magma.
			Doomed-shaped when exposed to the surface by denudation like.















  (d)		Explain four significance of volcanicity to human activities. (8 mks)
	(i)	Volcanic rocks such as basalt weathering to form fertile soils which support crop farming.
	(ii)	Geysers are a source of geothermal power for domestic and industrial uses.
	(iii)	Hot springs are used for heating houses especially in winter e.g New Zealand.
	(iv)	Volcanic features attract tourists who bring in foreign exchange.
	(v)	Volcanic mountains receive heavy rainfall on the windward side encouraging farming or settlement.
	(vi)	Volcanic mountain areas receive heavy rainfall making later catchment areas becoming a source of 	     rivers  used for irrigation / HEP/ water for domestic and industrial uses.
	(vii)Some volcanic rocks such as phonolites are used for building.
	(viii) Crater lakes provide fishing grounds for proteins e.g Chala lake /source of water for domestic / 	  industrial purposes.
9. (a)(i)	Causes of submergence of coasts.
		- Rise in the sea level.
		- Depression of the coastland or subsidence of coastal land.
		- Flooding along the coast.
					(2 mks)
    (ii)	Features resulting form submergence of coast.(2 mks)
		- Fjords
		- Rias / creeks
		- Estuaries
		- Island
		- Broad continental shelf
 (b)(i)	Tides:-Periodic rise and fall in the level of ocean or sea level due to gravitational force of the moon   	and sun.
			(2 mks)
     (ii)	Ocean currents along western Coast of Africa.
	- Canary	- cold				- Benguela - cold  (2 mks)
  (c)	Formation of stack:
	Waves attack one side or both of headland at right angle.
	Waves erode through abrasion and hydraulic action forming caves on both sides of the headland or one side.








	- Continue ware erosion and weathering leads to the merging of caves.  The merging of the caves leads to 		 formation of an arch / The cave formed on one side of the headland extends to the other end of the headland.










	Over time the roof of the arch collapses leading to formation of an isolated part of the headland on the seaward side.  The isolation block is the stack.









 (d)(i)	Conditions that favour the growth of coral rocks.(3 mks)
		- Water should be warm about 200 - 300C
		- Water should be clear of site / mud for light penetration.
		- Water should be saline.
		- Water should be well oxygenated.
		- Plenty supply of planktons.
		- Shallow water.
  (ii)	Contributions of coral to the economy of Kenya.
	- Coral stones are extended and sold as ornaments hence improve living standards.
	- Coral reefs act as tourist attraction sites and earns the country foreign exchange.
	- Coral reefs provide suitable breeding ground for fish which act as food.
	- Corals are rich in limestone which is used to manufacture cement for building and used to 	manufacture  cement for building and construction. 
							(3 x 2 = 6 mks)
10.(a)(i)	Name two types of deserts.(3 mks)
		- Hamada / rocky
		- Reg / stoney
		- Erg / sandy
  (ii)	Explain two ways through which wind transport is load. 
		   Traction / surface creep.
		- This is where wind moves heavy materials by rolling / dragging them on the surface.
		- Saltation.
		- This is where the wind moves moderately sized materials in a series of hops and jumps.
		- Suspension.
		- This is where the wind moves light materials / fine within the air current from one place to another.
				(2 x 2 = 4 mks)
  (b)(i)	Apart from oasis, list three other features that result from wind erosion. (3 mks)
			- Mushroom blocks.
			- Yardangs
			- Ventifacts
			- Rock pedestals
			- Oasis
     (ii)	1. Barchans
			2. Horns
			3. Eddy
						(3 mks)
 (c)	Describe the formation of Zeugens. (5 mks)
	- It forms in regions with alternating hard and soft rock lying horizontally on the desert surface.
	- The top layer of hard rock is well jointed / has cracks.
	- Wind abrasion erodes the joints deepening and widening them to reach the soft layer of rock.
	- Deflation blows away the loose broken materials.
	- Furrows are formed as abrasion continues into the soft rock.
	- The hard / resistant rocks forms ridges separating the furrows.
	- This process creates ridge - furrow landscape.
	- The protruding ridges are zeugens.
  (d)(i) Identify two equipments you would prepare for the study. (2 mks)
		- Observation
		- Notebook
		- Pen - pencil
		- Camera
   (ii)		Apart from administering a questionnaire name three other methods of data collection you would use.
			(3 mks)
		- Observing
		- Photographing
		- Content analysis
   (iii)	State two qualities of a good questionnaire. (2 mks)
		- Questions must be simple and clear.
		- Questions should be few.
		- Questions should be asked within the topic.
		- Questions should follow a logical sequence.
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   GEOGRAPHY 312/2 MARKING SCHEME PAPER 2
	SECTION A
1.(a)		Difference between domestic and international tourism.
	Domestic tourism involves people visiting areas of interest within their own country for leisure while international tourism is travelling for leisure outside one’s own country.
					(1 x 2 = 2 mks)
   (b) Four tourist attraction in the coastal region.
	- The sandy beaches
	- The Indian ocean
	- The Historical sites
	- The sunny weather
	- The tourist hotels
					First 4 x 1 = 4 mks
2. (a)	Method of irrigation used in Mwea Irrigation Scheme.
	Basin irrigation
(b)	Factors that influenced the location of Mwea Irrigation Scheme.
	-  Gentle sloping land allowing water to flow by gravity.
	- Presence of permanent rivers. Thiba and Nyamindi.
	- Black cotton soils which are easily flooded.
	- Inadequate and unreliable rainfall.
	- Sparsely populated area hence few people were displaced.
	- Availability of extensive land.
			Any first three (3 x 1 = 3 mks)  The river names must be mentioned to score.
3.(a)(i) Dry port.
	This is an inland terminal depot where goods are temporarily stored for easy distribution to the owners and to ease congestion in the main ports.
							 (2 x 1 = 2 mks)
  (ii)	Hinterland.
	This is that part of the inland that is served by a port.
							(2 x 1 = 2 mks)
   (b)	Advantages of using containers at the port of Mombasa.
	- Containers protect the goods from destruction.
	- They make loading and off loading easier.
	- They occupy less space.
	- They protect the goods against theft.
	- Saves time when loading and off-loading.
						(First 3 x 1 = 3 mks)
4.(a)		Three types of trade.
	- Local trade
	- Regional trade
	- International trade.
						(First 3 x 1 = 3 mks)
   (b)		Three invisible exports in Kenya.
	-  Banking
	- Tourism
	- Insurance
							 (3 x 1 = 3 mks)
5. (a)	Pollution.
		It is the contamination of the natural state of environment as a result of human activities.
					(2 x 1 = 2 mks)
     (b) Causes of water pollution.
	- Dumping of domestic wastes in water bodies.
	- Discharging of toxic wastes in water bodies.
	- Discharging of raw sewage into water bodies.
	- Dumping of toxic wastes / chemicals from industries water bodies.
	- Oil spillage into water bodies.
				(any first two  2  x 1 = 2 mks)
6.(a)		Reasons why wind energy is not well developed in Kenya.(2 mks)
	- Usually little energy is generated from wind.
	- Energy from wind is unreliable since it changes direction and speed.
	- Is expensive to generate.
	- It is expensive to maintain the gadgets.
				(any first two  2  x 1 = 2 mks)
(b)(i)	Other function Masinga Dam other than HEP production. (3 mks)
	- Provides water for domestic use.
	- Is a tourist attraction e.g Masinga Tourist Lodge.	
	- Is a fishing ground / food
	- Its water is used for irrigation purposes.
				(any first three  3  x 1 = 3 mks)
  (ii)	Problems that affect HEP generation down stream river Tana. (3 mks)
	- Siltation of dams reduces water volume to generate H.E.P.
	- Fluctuation of river volume affects the amount of H.E.P generation.
	- High capital investment limit research and construction of H.E.P stations.
	- Inadequate skilled manpower to construct / manage power projects.
				(any first three  3  x 1 = 3 mks)
  (d)	Measures that the government of Kenya has taken to manage the conserve her energy resources. (6 mks)
	- Through mass media the government advices people to.
	- Put off energy gadgets when not is use / during the day.	
	- Rationing energy such as idle electricity, oil etc.
	- Use energy saving devices e.g economy jikos.
	- The government encourages use of alternative sources of energy such as wind, solar, bio gas etc.
	- Encourages use of public transport as much as possible.
	- Encourages people to plant trees during the rainy / season / afforestation / reaforestation etc.
				(any first three  3  x 1 = 3 mks)
(e)(i)		Ground general view photograph.
   (ii)		Olkaria, Menengai field
				(2 x 1 = 2 mks)
   (iii)	Bogoria - Silali block, Kapendo in Turkana Namarunu.
		- Emuruangogolak
		- Silali
		- Paka
		- Korosi
		- Suswa
		- Menengai
		- Longonot
		- Badlands
		- Lake Magadi
		- Arus
		- Lake Bogoria
					(2 x 1 = 2 mks)
  (iv)		Effects of geothermal power generation on the environment. (6 mks)
	- Interferes with the volcanic features e.g the geysers.
	- Harmful gases emitted e.g sulphur dioxide is harmful to the people and animals.
	- Produces noise / air pollution which affects man.
				(3 x 2 = 6 mks)
7.(a)(i) Forestry
	The science of developing and managing forestry. (2 mks)
   (ii)	Characteristics of planted forests.
	- The forests consist of similar species.
	- The trees are planted rows.
	- The trees take a short time to mature.
	- There is little or no undergrowth.
				(any first 3 x 1 = 3 mks)
 (b)(i)	Soft wood trees in Canada.
	- Douglas fir
	- Pine
	- Spruce
	- Cedar
	- Cypress
				(any fires 2 x 1 = 2 mks)
   (ii)		Ways in which coniferous forests are adapted to the cold climate.
	- Trees are conical in shape to prevent accumulation of snow during winter.
	- Trees have thick barks with a lot of resin which protects them from frost.
	- The trees have shallow roots to enable them to fully utilize the moisture in top soil.
	- The trees have needle - like leaves to reduce transpiration during summer.
					(any first 4 x 1 = 4 mks)
  (iii)		Problems facing forestry in Kenya.
	- Clearing of forestry to give room for agriculture and settlement.
	- Large acreage of forest are destroyed.
	- Forests are attacked by pests like aphids which destroy large areas of forests.
	- Over-exploitation of forests due to high demand for timber.
	- Wild animals cause damage to forest plants.
					(any first 4 x 1 = 4 mks)
 (c)	Measures taken by the government to conserve forests.
	- Afforestation
	- Creation of forest reserves.
	- Setting up of Nyayo tea zones.	
	- Agro forestry
	- Legislations
					(any first 3 x 1 = 3 mks)
 (d)(i)	Comparison of forestry in Kenya and Cananda.
   (i)	Transportation.
     - In Kenya logs are transported by tractors and lorries while in Cananda they are transported by floating them over water.
     -	In Kenya workers are transported daily to the logging sites while in Canada a settlement is set up in the region where harvesting is taking place.
						(2 x 2 = 4 mks)
  (ii)	Harvesting.
	In both countries harvesting is systematic and done in blocks. (2 mks)
 (iii)	Tree species.
	In Kenya both hardwoods and softwood trees are grown while in Canada only softwoods are grown. (1 mk)
8.(a)(i)	Wildlife
	Refers to animals and plants in their natural habitat. (2 mks)
  (ii)	Difference between a game reserve and National park.
	- A national park is managed by the national government while game reserve is managed by county government.
	- Grazing of domestic animals is allowed in game reserves while national parks it is prohibited.
	- National parks are usually fenced but game parks are not.
					(any 1 x 2 = 2 mks)
  (iii)	Three game parks in Uganda.
	- Kiguzi
	- Katanga
	- Toro
	- Bugungu
	- Bokora
					any first 3 x 1 = 3 mks
  (iv)		Wildlife management is the effective planning and control of wildlife. (2 mks)
  (b)	Measures taken to conserve and manage wildlife.
	-	Formation of wildlife management bodies like Kenya wildlife service.
	- Training and research. This is done through wildlife colleges and help to equip  personnel with skills 	  in wildlife  management.
	- Creating awareness. Establishment of wildlife clubs in schools has enhanced awareness on the need to 	 conserve   wildlife.
	- Education - Educating the public on the need to conserve wildlife through public lectures and the mass 	  media.
					(any first 4 x 2 = 8 mks)
 (c) 	Physical factors that influence the distribution of wildlife in East Africa.
  (i)	Climate.  Most animals are found in hot and warm parts while fewer species are found in the cold regions.
  (ii)	Relief: Altitude will influence plant growth because of variation in temperature.
  (iii)	Soil types:  Different types of plants grow in different types of soils.  The types of plants will then influence the types of animals found there.
 (iv)	Vegetation: Different varieties of vegetations are habits to different animals e.g Natural forests attract elephants while grasslands are hosts to herbivores and carnivores.
  (v)	Drainage: Well drained areas support a wide variety of plants and animals.
					(any first 4 well explained 4 x 2 = 8 mks)
9.(a)(i) Industry: Any form of economic activity through which people produce goods and services from 	    	  their own  consumption of for sale.
			(1 x 1 = 1 mk)
  (ii)	Three agricultural non-food manufacturing industries in Kenya.
	- Tobacco processing.
	- Leather tanning
	- Textile manufacturing
	- Soap manufacturing
					(any relevant first 3 x 1 = 3 mks)
  (iii)	Three benefits derived from Jua Kali industries.
	- Uses locally availability materials hence helps in environmental conservation.
	- Production of affordable commodities.
	- Helps in decentralization of industries.
	- Requires little capital to start.
	- Make people self reliant.
				(any first 3 x 1 = 3mks)
 (b)(i)	A - Wesel
		B - Duisburg
		C - Krefeld
		D - Essen
		E - Dortmound
					(1 x 5 = 5 mks)
    (ii)	River F - R Lippe
		         G - Ruhr
				H - Wupper
					(1 x 3 = 3 mks)
 (c)(i)	Factors that led to the growth of iron and steel industries in the Ruhr region.
	- Availability of water from R Rhine, Lippe and Ruhr.
	- Availability of coal, iron and limestone as raw materials.
	- Availability of coal as a source of power.
	- Skilled labour form the local population.
	- Availability of capital from rich merchants.
	- Ready market both internal and external in central and western Europe.
				(any first 4 x 1 = 4 mks)
  (ii)	Factors that have led to rapid development of the car manufacturing industries in Japan.
	- Advanced technology leading to efficient production of high quality goods.	
	- Large population that provides ready market for the car industry.
	- Adequate finances helps to start and expand car manufacturing industries.
	- Several sea ports that facilitated importation of raw materials and exportation of finished products.
	- Large external markets encourage continuous production.
				(any first 3 x 2 = 6 mks)
10.(a)(i)	Ocean currents.
				X - Oyashio current (cold)		
				Y - Kuroshio current (warm)
							(2 mks)
   (i)	Country P - Japan (1 mk)
  (iii)		Reasons why Japan is a leading fishing nation.
	- Convergence of warm Kuroshio and cold Oyashio currents which regulate the temperatures / ensure 	 the    water is well oxygenated / upwelling bringing minerals / food to the surface.
	- Ready market due to the large population in Japan.
	- Advanced  technology which ensures easy deep sea fishing.
	- Rugged terrain which discourages their activities e.g agricultural activities.
	- Extensive shallow continental sheet for breeding of fish / allow light which ensures growth of   	      	planktons / fish 	   food.
						(any first 3 x 2 = 6 mks)
  (b)	Why Africa is not a major fish producer.
	- few indented coastlines for development of fishing ports.
	- Most coastlines have shallow water due to the presence of coral reefs.
	- Narrow continental shelves - limit the amount of fish in the oceans.	
	- Oceans waters in the East are usually warm - limited growth of plankton.
	- Few bays and estuaries breeding and development of ports.
	- Most rivers contain rapid and waterfalls which does not favour commercial fishing.
						(any first 4 x 1 = 4 mks)
  (c)	Significance of fishing industry to Kenya.
	- Creation of employment hence improve living standard.
	- Act as tourist attraction - foreign exchange.
	- Revenue collected / areas with fishing grounds have improved road and other transport networks.
	- Fish act as source of proteins.
	- Has facilitated the development of other related industrial.
			(any first 4 x 2 = 8 mks)
 (d)(i)	Methods of fishing.
	- Traps
	- Barriers
	- Gill nets
	- Handlines
	- Seining
	- Line fishing
					(2 x 1 = 2 mks)
   (ii)	- Poor transport network making the area inaccessible.
	- Limited marked due to absence of fish eating culture.
	- Over fishing.
	- Pollution  resulting to death of fish and other aquatic animals.
	- Absence of co-operative societies to help the fishermen.
	- Inadequate capital to buy the required equipments. 
						(2 mks)
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